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a. 7w all are associated with n:n 0727, but that is an Xnanor
i.  Wheat: for length of time for clothes to become ®nv when entering a yan n»
ii. Barley: size of bone that creates YR nrRmY
iii.  Grape: ny»27 of wine for a 7n
iv. Fig: size of food that generates culpability if carried out on naw
v. Pomegranate: size of break in vesselst hat renders them no longer &nv
vi. Olive: for the rest of the nyw
vii. Honey (date): size of large date generates culpability if eaten on 5"y
b. ¥y that vYY apm 1197 is the threshold
c. mynp: according to NN’ »27, basic definition of a n¥'Mn (DNav ); to RN A NMIPY 19T, T, TY.
II. Requirement of 3 walls
a. opom 2 full and 1 minimal (1 nav)
i. nmops ox v (v3): MO NIV NI
1. I:for itself, other 3 for walls; n”n%n comes to diminish last wall (#3) to nav OR
2. oo requires a verse OR
3. »wbr indeed diminishes OR
4. They don’t include: 1%t one as part of the nw1
b. w73 full and 1 minimal (1 nav)
i. nmops ox v (v3): MNVax3 =6
1.  2:for itself, other 4 for walls; n”n%n comes to diminish last wall (#4) to nav OR
2. 70 needs no verse OR
3. n’w5i1 extends, rather than diminishing OR
4.  He includes: 1 one as part of the nv17 OR
5. His source: is v4
II. placement of minimal wall
a. 37 next to one of the walls, facing the other (also YR and the xwTn )
i. Challenge: why not place it on a diagonal, in towards both walls (silence)
b. ’»’7’7 make an “ample nav” (4 fingers splayed) and stand it within 3 n'nav of the wall
c.  Amir 27 a o built like a nan (2 full walls facing each other) — add a third nav-wall on either side
i. 5727 must make a 4+0'nav board and stand it within 3 of the wall
ii. Different from: 1 17’s case; here there aren’t 2 contiguous walls
iii. 27 must make the nav into a nnan nmx ( %2 nav on each side, bar on top)
1. Note: other versions:
a. May: alternatively have nnan nm1 OR
b. Must: also have nnan nmx (besides splayed nav)
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